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Many of the problems you have worked in previous packages and many
that you will work in the future require that you find values of two
uvnknown quantities. You heve been expressing both unknowns in terms of
one variable. However, these problems are quite often much easier to
dolve if you use two varisbles and two open sentences. Therefore, your
goal when studying this package should be:

When given a verbal problem containing two undnown quantities, be
able to translate it into two sentences with two variables and find the

solution to the problem.

PACKAGE OBJECTIVES:

1. Given a system of simultaneous equations, determine the solution
set by graphing.

2, Given a system of simultaneous equations in which a variable has
a coefficient of one or a variable has the same coefficient
(absolute valua) in both sentences, determine the solution set
by the substitution, the addition, or the subtraction method.

3. Given a system of simultaneous equations in which no variable
has the same coefficient in both sentences, determine the solution
set by using the addition or subtraction method.

4, Given a verbal problem containing two unknown quantitles, write
its solution using two sentences with two variables.

5. Given a digit problem, write its solution using two sentences with
two variables.

6. Given a motion problem, write its solution using two sentences with
two variables.

7. Given an agelggoblem, write its solution using two gentences with
twn variables.

8. Given a system of linear inequalities, indicate their solution on
the Cooirdinrate plane.




I. U. #03-11-01

SOLVING SYSTEMS OF LINEAR EQUATIONS
BY

GRAPHING




03-11-01

You will need to recall:

How to graph linear equationea.

OBJECTIVES:

1.

When asked to define 'simultaneous equations" write '"simultaneous
equations are equations that impose two conditions on the
variables at the same time.

2. When asked to explain the difference between consistent and
inconsistent simultaneous equations, write "Consistent
sinultaneous equations have common roots, inconsis:ent
simultaneous equations have no common roots."

3. Given a system of simultaneous equations, determine the solution
set by graphing.

ACTIVITIES:

1. Study pages 415-417, SM. Be sure you understand objectives 1
and 2 and the senterce in the gray rectangle at the top of
page 417. (cbjectives 1, 2, and 3)

2. Do gome of the written exercises on page 418. Be sure to

include exercises 7, 8, and 13 in those you work. (objective 3)



Cviterion Test 03-11-01-01
1. Define "simultaneous equations"

2. Explain the difference between consistent and inconsistent
simultaneous equetions.

3. Determine the solution set by yraphing:
(a) x+y=4 () 3x-y=14

2x -y =8 2x + y =6

() 2x ~y = 3

4x ~ 2y =5

Criterion Test 03-11-01-02
1. Define "simultaneous equation'

2. Explain the differenca between consistent and inconsistent
simultaneous equations.

3. Determine the solution set by graphing:

(a)l'x"}"l '(b)x-—yn-4
y=2x -3 y-x=4

(¢ xX~-y=35

X+ 5y = 11

Criterion Test 03-11-01-03
1. Define '"simultaneous equations."

2. Explain the difference between consistent and inconsistent
simultaneous equations.

3. Determine the solution set by graphing.

P

(a) x-2y=1 ) 3x-y=14
x - 3y = -2 2%+ y =6

() 3x+y=11
2y + 6x = 22



Answers to Criterion Tests

Test 03-11-01-01

l. Simultaneous equations are equations that impose two conditions
on the variable at the same time.

2. Consistent simultaneous equations have common roots,
inconsistent equations have no common roots.

3. (a) {(4,0)} ®) {(,-2)}




Answers to Critetion Tests

Test 03-11-01-02

1. Simultaneous equations are equations that impose two
conditions on the variables at the same time.

2., Consistent simultaneous equations have common roots,
f1consistent equations have no common roots.

3. (a) {(=1,-5)}) (b) {all ordered sairl belonging
to this 1line

(c) {¢,1)}




Answers to Criterion Tests

Test 03-11-01-03

l. Simultaneous equations are equations that impose two
conditions on the variables at the same time.

2. Consistent simultaneous equations have common roots,
inconsistent equations have no common roots,

3. (a) {(,3)} ) {(4,-2)}

\

(c) {all ordered pairs belonging to this line}

R bbbl b
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SOLVING SYSTEMS OF LINEAF EQUATIONS.

SUBSTITUTION ~ ADDITION - SUBTRACTION




03-11-02

You will need to recall:

How to solve linear equation (packagas #03-04)

and the meaning of "coefficient."

OBJECTIVES:

1. Given a system of simultaneous equation in which a variable

has a coefficient of one, determine the solution set by the
substitution method.

2. Given a syster of simultaneous equations in which a variable
has the same coefficient (absolute value) determine its
solution set by addition or subtraction.

3. Given a system of simultaneous equations in which a variable
has a coefficient of one or a variable has the same coefficient
(absolute value) in both senterces, determine the solution

set by the substitution, the addition, or the subtraction
method.

ACTIVITIES:
1. Study page 426 S & !1 (objectives 1 and 3)
2. Study pages 419-420, S & 1 (objectives 2 and 3)
Exercises: Do some of exercises on page 426, do some of exer.ises
page 420. You may want to try some of the part B
exercises on page 421 because some of the age problems

you will work in inBtructional unit 03-11-07 result
in equations such as these.
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Criterion Test 03-11-02-01

1. Solve by subastitution:

(a) x = 8y (b)
x - 4y = 12

2. Solve by addition or subtraction:

(a) 3x+y=9 (b)

2x -y =1
3. Solve by substitution, addition, or
(a) x + 3y = 14 (b)

X -2y = -1

Criterion Test 03-11-02-02
1. Solve by substituticn:

(a) x =3y )
2x - 5y = 4

2. Solve by addition or subtraction:

(a) 3x - 2y = -9 (b)
3x - 5y = -12
3. Solve by substitution, addition, or
(a) 2x+y =7 (b)
2x -y =35

Criterion Test 03-11-02-03
1. Solve by substitution:

(a) x ~2y=-8 (b)
x+y =<3

2. Solve by addition or subtraction:

(a) 3x -2y =1 (b)

4x + 2y = 6
3. Solve by subatitution, additiomn, or
(a) 2x -~ 3y = -4 (b)

Yy +xe <=2

11

x+3y=5
~3x + 2y = 18

2x + 3y = -5
Sx+ 3y =1

subtraction:

4x + 3y = 7
4x + 4y = 12

y-2x=0
x+ 2y =9

5 -y = -23
“3x+y= 15

subtraction:

14x ~ 4y = =16
9% ~ 4y = -19

x=y -4
Iy + 2x = 12

Ix -y = =22
7x + 2y = 2

subtraction:

3% - S5y = =12
2x + 5y -~ 17



Answers to Criterion Tests

Test 03-11-02-01

1. (a) x = 8y (b) x+ 3y =5
X - 4y = 12 -3x + 2y = 18
(8y) - 4y = 12 x=5~ 3y
y=3 -3 (5~ 3y) +2y =18
x =™ 83 = 24 11y = 33
{(24,3)} y=3
x=5=3(3) = -4
{(-4,3)}
2. (a) 3x+y=9 (b) 2x+ 3y = -5
2x -y =1 S+ 3y = 1
Sx -10 -3x% = -
x = 2 x=2
32 +y =9 2(2) + 3y = =5
y=3 y=-3
{(2.3)} {(2:"3)}
3. (a) {(5,3)} ) {(-2,5)}

Test 03-11-02-02

1, (a) x = 3y ) y-2x=0
2x - S5y = 4 x+2y=9
2(3y) - 5y = 4 y = 2x
y-l. X+2(2x>"9
x=3 4= 12 S5x = 9
{(12,4)} x= 9
5
-2 =18 9 .18
2, (a) 3x -2y = -9 (b) 5x -y = -23
3x - 5y = ~12 “3x+y= 15
3y =3 2x = =8
y=1 X = =4
Ix -~ 2(1) = -9 5(=4) -y = =23
Xxm-_1 y=3
3 {(-4,3)}
{1
-3 1
9 3 61
3. (a) {(@3,1)} () {( -5 359}

12




Answers to Criterion Tests

Test 03-11-02-03

1. (@) x -2y = -8 (b) x=y -4
x+y= -3 3y + 2x = 12
X =2y -8 Iy + 2(y - 4) = 12
3(2y - 8) +y= -3 5y = 20
ly = 21 y = 4
y=3 X=4=-4=0
x=2(3) -8m= -2 {(0,4)}
{(-2’3)}

2. (a) 3x-2y=1 (b) 7x -y = =22
bx + 2y = 6 7x + 2y = 2
7x a 7 =3y = =24
xw= 1 y=8
3(1) - 2y =1 7x - 8 = =22
y=1 X = =2
{(1,1)} {(-2,8)}

3. (a) {(-2,0)} ®) {(1,3)}

13




I. U. #03-11~03

SOLVIUG SYSTE!!S OF LIJIEAR EQUATIONS~

UNLIFE COEFFICIEJTS

14




03-11-03

OBJECT! VES :
1. CGiven a system of simultaneous equations in which no
variable has the same coefficient in both sentences,

determine the solution set by using the addition or
subtraction method.

ACTIVITIES:
1. Study page 423, S § M, (Objective 1)

You should do most of the exercises on page 424, S & M.

15



Criterion Test 03-11-03-01
1. Determine the solution set:

(a) 8x + 6y = 10
-4x + 3y = -1

X
(¢c) 2-2y=0

-3
1

wie
]
=)

Criterion Test 03-11-03-02
1. Determine the solution set:

(a) 9% - 2y = 2%
: 5x - 6y = -3

€) 3x-§u19

Zx
ERRA

Criterion Test 03-11-03~03
1. Determine the solution set:
(a) 5x+ 9y = 6
6x + Sy = 13

(¢) 2x - é%'- i0

3x_ _ya.4
10 20 5

(b) 2x - 3y = ~14
3x + 7y = 48

(b) 2x + 7y = 52
-3x + 5y = -16

(b) 4x + 3y = -2
8x - 2y = 12



Answers to Criterion Tests

Test 03-11-03-01

1. (a) {(—2—, ) ®) {2, 6)) () (a2, 3}

Test 02~11-03-02

1. (a) {(Cs, 1)} ®) {@Q2, &)} (c) {(6, -2)}

Test 03-11-03-03

1. (a) {(3, -1} ®) {1, -2)} (c) {(2, -4)}

17




I. U. #03-11-04

SOLVING VERBAL PROBLEMS
USING

SYSTEMS OF EQUATIONS

18



03-11-04

OBJECTIVE:

1. Given a verbal problem containing two unknown quantities,
write its solution using two variables.

ACTIVITIES:

1. Study the example on page 421, S & M. Be sure you read
a problem carefully before setting out to solve it.
Understand the situation described then be sure to use

the 4 steps given in the example. Finally, write the answer
to the problen.

Exercises: (Be sure to use two variables in the solution of
these problems) Do gsome problems from the following
pages in § & M: 422, 423, 425, and 427,

19




Criterion Test 03-11-04-01
1. Write the solution.

(a) The difference between two times one number and a
smaller one is 39. The sum 0f the smaller and three
times the larger is 96. Find the number.

(b) A rectangular room is 3 feet longer than it is wide
and has a perimeter of 50 feet. What are the dimensions
of the room?

(c) In a math class there are 3 fewer girls than twice the
nunber of boys. If there were 3 more boys in the class,
there would be an equal number of boys and girls. How
many girls are in the class?

Criterion Test 03-11-04-02
1. Write the solution.

(a) Lotta Cash invested $1400, some at 6% and someé at 5%.
Her total annual income from her investment is $73.
How much does she have invested at each rate?

(b) Twice a number is seven more than s larger number.
Three times the smaller is one more than twice the
larger. Name the two numbers.

(c) A 38 foot rope is cut into two pieces so that one

plece is 4 feet lese than twice the other. What
are the lengths of the pieces?

Criterion Test 03-11-04-03
1. Write the solution.

(s) Mrs. Proud's baby has four less teeth than Mry. Prouder's
baby. Together the babies have 18 tseth. How mahy teeth
does Mrs. Prouder's beby have? ,

(b) Marvin's geometry grade was ten points less thar his
history énde. His geometry grade vas also 28' of his
history grade. What vere his grades?

(c) Harry Heap has 27 coins in dimes and quarters. Altogether
he has $56.05. How many dimes does he have?

20




Answers to Criterion Tests
Test 03-11-04-01

1. (a) x = smaller number
y = larger number
2y - x= 39
X+ 3y = 96

{(Q15, 27))
the numbers are 15 and 27

(b) x = length
y = width
X-y=3
2x + 2y = 50

{14, 11)}
the room is 14 feet by 11 feet

(¢) x = boys
y = girls
2x ~y= 3
X+ 3=y

{6, 9}

there are nine girls in the class

21




Answers to Criterion Tests (Cont.)

Test 03-11-02

1. (a) x = amount invested at 5%
y = amount invested at 6%
x + y = 1400

.05x + .06y = 73

{ (1100, 300)}
She had $1100 invested at 5% and $300 invested at 67

(b) x = smaller number
y = larger number
2x = 7 +y
Ix =1+ 2y

{(13, 19)}
the numbers are 13 and 19

(c) = one piece
= other pilece
+ y= 38

= 2y - 4

L

{(24, 14)}
the piece are 24 feet and 14 feet in length

22




Answers to Criterion Tests (Cont.)

Test 03-11-04-03

l. (a) x = number of teeth Mrs. Proud's baby has
y = number of teeth Mrs. Prouder's baby has
y-x =4
y +x= 18

{¢7, 11)}
Mrs. Prouder's baby has 11 teeth

(b) x = geometry grade
y = history grade

y -10=x
7

X =gy

{(70, 80)}

geometry grade was 70, history grade was 80

(c) x = dimes
y = quarters
xt+ym= 27
.10x + .25y = 4.05

{(1s 9}
He uas 18 dimes

23




DIGIT PROBLEMS

24




03-11-05

You will need to recall:

That the expanded form of a two-digit standard numeral such
as 37 18 3 x 10 + 7. :

Although digit problems may seem to have little practical
value, they will give you valuable experience in translating from
verbal problems to mathematical sentences. Maybe digit problems

should be thought of as challenging puzzles!

OBJECTIVES:

1. When asked to represent a two digit numeral with variables
for its digits, write 10t + u.

2. When asked to write the numeral 10t + u with its digits
reversed, write 10u + ¢t.

3. When asked to express the sum of the digits of a two-digit
numeral in terms of variables, write t + u,

4. Given a digit problem, write its solution using two sentences
with two variables.

ACTIVITIES:
1. Study page 428 in S & M. (Objectives 1, 2, 3, 4)

2. Do some of the part A problems on page 429, S & M.
(Objective 4)

25



Criterion Test 03-11-05-01

1.

Represent a two-digit numeral with variables for its digits.

Write the numeral 10t + u with its digits reversed.

Express the sum of the digits of a two~digit numeral in
terms of variables.

Write a solution:

(a) The
The
the

(b) The
The

sum of the digits of a two~digit numeral is 11.

tens digit is 3 less than the units digit. Find
number.

sum of the digits of a two-digit numeral is 10.
value of the number with its digits reversed is

72 more than the number. Find the number.

Criterion Test 03-11-05-02

1.

Represent a two-digit numeral with variables for its digits.

Write the numeral 10t + u with its digits reversed.

Express the sum of the digits of a two-digit numeral in
terms of variables.

Write a solution:

(a) The units digit of a two-digit numeral is four more
than the tens digit. 1If the digits are reversed the
resulting number is one less than twice the original
number. Find the number.

(b) The sum of the digits of a two digit numeral is 8.
The number with the digits reversed is eleven times
the original tens digit. Find the number.

26



Criterion Test 03-11-05-03

1‘

Represent a two-digit numeral with variables for its
digits.

Write the numeral 10t + u with its digits reversed.

Express the sum of the digits of a two-digit numeral in
terms of variables.

Write a solution:

(a) The sum of the digits of a two-digit numeral is 5. The
number with its digits reversed is sixteen times the
original tens digit. Find the number.

(b) The units digit of a two-digit numeral exceeds three

times the tens digit by three. Reversing the digits
increased the number by 63. Find the number.

27



Angwers to Criterion Tests

Test 03-11-05-01

1. 10t + u
2. 10u+t
3. t+u
4. (a) t = tens digit (b) t = tens digit
u = units digit u = units digit
t+ue ]l t+um=]l0
t=u-~3 I0u+t=172+ 10t +u
(u-3)+uell 9% -9t = 72 . '
ue=7 9u + 9t = 90
t =4 "18u = 162
the number is 47 u=9:
te ]

The numher is 19,

Test 03-11-05-02

1. 10t +u
2. 10u+t
3. t+u
4. (a) t = tens digit (b) t = tens digit
. u = units digit u = unita digit
us 4+ ¢t t+u=g§g
10u + t = 2(10t + u) - 1 10u + t = 11t
1Qu+ te20t $#2u=~1 10u - 10t = 0
8u - 19t = -1 10u + 10t = 80
8(4+t) - 19t e -1 20u = 80
-llt = =33 us 4
t=3 te=4
‘u -] the number i3 44

the number is 37

.28




Answers to Criterion Tests (Cont.)

Test 03-11-05-03

1. 10t + u
2. 10u+t
3. t+4+u
4. (a) t = tens digit (o) t = tens digit
u = units digit u = units digit
t+u=35 us= 3t + 3
10u + t = 16t 10u+ t -63= 10t +u
10u - 15t = 0 9u - 9t = 63
10u + 10t = 50 u-ta=7
-25t = =50 3t+3)-t=7
t=2 2t = 4
u=3 t= 2
the number 1is 23 us=9

the number is 29

29




I. U. #03-11-06

MOTION PROBLENMS




03-11-06

You will need to recall:
the distance formula, d = rt.

distance = rate x time

OBJECTIVES:

1. Given a motion problem, write a solution using two
sentences with two variables.

ACTIVITIES:

1. Study exsmple page 430, S & M. You should work all of
part A and some of part B problems pp. 430-431, S & M.

n




Criterion Tes~ 03-11-06-01
1. WVrite a solution.
(a) Joe can row 12 miles upstream in & hours. He can
rov 28 miles dowustream in ths sane time. How fast
can he row in etill water.
(b) It took & %houn for a plane to make a 1400 mile trip
against the wind. It took on 4 hours for the return

trip with the same wind. What is the rate of the wind.

Criterion Test 03-11-06-02

1. WVrite s solution.

(a) Jim cen rovw twice as far dovn stresm as he can upstrean
in the same time. If he can rov 20 miles upstrasm in
8 hours, vhat 1s the speed of the current?

(b) A boat traveled 108 miles upstress {n 9 hours. The
return trip took 6 hours, Uhat 1s the boat's speed
io still water?

Criterion Test 03-11-06-03

1. urite a solution.

(a) It takes Kerri the same amount of time to go 30
miles upstream as it does to go 40 miles downstreas.
It takes her 135 minutes to go 3 miles upstream. What
is the rate of ths current?

() A mntorboat goes )0 uiles downstress im 1l hours. The

return trip against the current takes 3 hours. Find
the boat's speed in still vater.

32




Answers to Criterion Tests

Test 03-11-06-01

1. (a) x = rate in still water.
y = rate of current

de r - ¢t

jupstream |12 I x -y | 4
downstresmn | 28 | x +y | &

4(x - y) = 12
b(x +y) = 28
4x - 4y = 12
4x + 4y = 28
8x = 40
x=35

he can row 5 m.p.h. 1in still water

(b) x = speed of plene in still air
y = speed of wind

d = r - ¢t
with 1400 | x + y | &
againet | 1400 | x - ¥y lt %

4(x + y) = 1400
&%’(x - y) = 1400

4x + &y = 1400 ————3 x + y = 350
14(x - y) = 4200 x-ye= 300
léx - lby = 4200/ 2y = 50

ye 25

the speed of the wind is 25 m.p.h.

kX )



Answers to Criterion Tests (Cont.)

Test 03-11-06-02

1. (a) x = Jim's rate in still water
y = rate of current

d= r - t]
upstrean 20 | x -y 8
downstream 40 | x+ ¥y 8

8(x - y) = 20
B(x +y) = &40
8x - 8y = 20
8x + By = 40
-16y = -20
y = 1k

the speed of the current is lg m.p.h.

(b) x = boats speed in still vater
y = speed of current

d = r ° ¢t
upstreanm 108 | x -y | 9
Jdownsgtream | 108 | x+y | 6
9(x - y) = 108
6(x + y) = 108
9 ~ 9y » 108 3 x -y = 12
6x + 6y = 108 —) x +y = 18
2x = 30
x = 15

the boat's speed in still water is 15 m.p.h.




Answers to Criterion Tests (Cont.)

Test 03-11-06~03

1. (a) x = speed of boat in still water
y = speed of current

de r 1+ ¢ 3mi. in 1S min. =
upstream 30 [ x -y | 24 30 wi. in 150 min.
downstream | 40 | x + vy | 2% 150 min. = 2)5 hrs.

24(x - y) = 30 ———> 5(x ~ y) = 60
Ds(x + y) = 40— S(x + y) = 80
X -ym=12

x+y=16

-2y = -4
y=2
the speed of the current is 2 m.p.h.

(b) x = doat's speed in still water
y = rate of current

d = d « ¢t
upgtream | 30 [ x -y | 3
dovmstream 0| x+y

3(x -y) = 30 x-y= 10
Ig(x + y) = 30 x+yw= 20
Zx = 30
x= 15

the boat's speed in still water is 15 m.p.h.
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AGE PROBLEMS
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03-11-07

OBJECTIVES:

1. Given an age problem, write its solution using two sentences
and two variables.

ACTIVITIES:

1. Study the example page 432, S & M. Work most of part A
problems and some of part B, pp. 432, 433 S & M.

37




Criterion Tent 03-11-07-0L
1. Write a solution.
(a) Jackie's mother is three times as old as Jackie. In
10 years Jackie will be as old as her mother was 20
years ago. Find their present ages.

(b) Jeannie is %‘as old as Judy. 1In 7 years she will be'%

as old as Judy. How old 1is Judy?

Criterion Test 03-11-07-02
1. Write a solution.

(a) Six years ago, Mr. Miller was two years more than
five times as old as his gson. In another six years,
he will be eleven years more than twice as old as
his son. How old is he?

{b) A man is now 5 times as old as his son. In five
years he will be only 3 times ss old as his son wili
be then. How old is the son now?

Criterion Test 03-11-07-03
1. Write a solution.

(a) Three years ago, Jack was one year more than twice
as old as Jill. Six years from now, he will be 10
years more than half her age. How old is Jack?

(b) Mrs. Happy is é-as old as Mr. Happy. Four years
7

ago, whan they were married, she was-% as old as he.

How old 1s each?
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Answers to Criterion Tests

Test 03-11-07-01

1. (a)
Time Jackr= | Mother
now X Yy
in 10 yrs x+ 10 | v + 10
20 yrs ago | x - 20 [ y - 20
y = 3x
x+10=y - 20
¥+ 10 = (3x) - 20
-2x = =30
x = 15
y = 45
Jackie 1is 15, her mother is 45.
(b) |
Time Jeannie Judy
Now x v
In 7vyrs | x+ 7 | v+ 7

X =

qﬂ»

x+7'=%(y+7)
Sx + 35 = 4y + 28
5Gy) + 35 = by + 28
15y + 140 = 16y + 112
-y = =28

y = 28
Judy is 28 years old.
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Answers to Criter

1. (a)

ion Tests (Cont) TeHyh O3-\\-OT7-On

Now

Time Mr, Miller Son

x-

x+6=11+ 2(y + 6) ==> x - 2y

16 yrs ago | x - 6 Yy
_In’6§£c | . x + 6 y

+|s <

6
6

6= 2+ 5(y ~6) ———3p x ~ Sy

- 3y
y
X

[ I I B B
W
o

Mr. Miller 18 43.

(b)

T

ime Man

Now

In 5

+< o

yrs x+5ly

x +
(Sy) + 5 =

2

oM

Sy
3(y + 5)
3y + 15
10
]

The son 1is 5 years old

40



Ansvers to Criterion Test Criterion Test 03-11-07-03

1. (a)
Time Jack Jill
Now x ¥
13 yrs ago Xx=-3lv=~3
6 vyrs from now | x + 6 | vy + 6
X=3=1+2(y=-3)~=>px=-2ym= -2
x+ 6= 10+ X(y + 6)
X=-ly=7 > 4x - 2y = 28
-3x = -30
x = 10
Jack 1is 10 yeazs old
(b)
Time Mrs. Y'appy | Mr. Happy|
{Now . X
14 yrs ago | x ~ & vy ~-4
6
X = 3y

5
X-b=Fly=~4

6
) - b =2y - &)

36y - 168 = 35y - 140
y = 28
x = 24
Mrs. Happy is 24 end Mr. Happy 1is 28.
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SYSTEMS OF LINEAR INEQUALITIRS
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03-11-08

You will need to recall:

how to graph a linear =quation.

OBJECTIVES:

1. When a "..d to explain the terms half-plane end boundany,
write Any Line separates the plane into bwo regions called
hatf-planes. The Line is the boundary of each half-plane.

2. When asked to define open half-plane, write An open hatlf-
plane is a half-plane without its boundary.

3. When asked to define a closed half-plane, write A closed
hat§-plane is the union of c hal§-plane and its boundary.

4. Giver a linear inequality, determine if its graph is an
open half-plane or a closed half-plane.

5. Given a linear inequality, draw its graph on the coordinate
plane.

6. Civen a system of linear inequalities, indicate their solution
set on the coordinate plane.

ACTIVITIES:

1. Study page 435, S 6 M (Objectives 1, 2, 3, and &)

2. Study page 436, S &§ M (Objective 5)

3. Study pages 437 .and 43B, S § M (Objective 6)

4. Do some part A exercises page 437, S &§ M (Objective 5)
5. Do some part A exercises page 438, S & M (Objective 6)
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Criterion Test 03-11-08-01
1. Explain the terms half-plane and boundans.
2. Define open half-plane.
3. Define closed hal§-plane.

4. Indicate wvhether the graph of each ineguality is a closed
half-plane or an open half-plane.

(a) y>2x+3 (c) ¥y>3

() 2x -~y <S5+ x fd) w» <12 <1} -y
5. Graph in the coordinate plane.

(a) y>u+3 ®) y>3
6. Graph this system:

y>2x -6

y € 3x 4+ 4

Criterion Test 03-11-08-02
1. Explain the terms half-plane end bcundary.
2. Define open half-plane.
3. Define closed half-plane.

4. 1Indicate wvhether the graph of each lnequality is a closed
half-plane or an open half-plane.

(a) y<2-x (c) x21

) 2y +x <5 (4) x+y>2

(V)

Graph in the coordinate plane.
() y<2-x ®) x>1
6. Graph this system.

x+y>1
2x ¢+ ¥y 2> 6




Criterion Test 03-11-08-0)
i. Explain the terms half-plane and boundary.
2. Define open hal{-plane.
3. Define closed half-plane.

4. Indicate vhether the graph of each inequality 1s a closed
half-plane or an open half-plane.

(8) x+y<) {(¢) y <« Xx

®) 2x+y>1 (d)y:'%
S. Craph in the coordinate plane.

(a) x4y <) ) y< I

6. Graph this systen.
x4+ 3y >2

x + Iy <7
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Ansvers to Criterioa Tests
Test 0311-08-01

1. Amy lins serarates the plame iato two regions called
half-planes. The lims is the boundary of each half-plene.

2. As open half-plane 1s a half-plese vithout its boundary.
3. A closed half-plane 1is the wmion of s half-plane and its

boudary.
4. (a) closed (e) open
(d) cloeed (d) open

)
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Answers to Criterion Teste (Cont.) Tast 03-11-08-02

1. Any line separates the plane {nto two regions called
half-planre. The line {s the boundary of esch half-plane.

2. An open half-plane is a half-plene without its boundary.
3. A closed half-plans {s the union of a half-plane and {ts

bourdary.
4. (a) closed (¢) closed
(b) open (d) open

— o iy
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Criterion Test 03-11-08-03

1. Any line separates the plane into two regions called half-

planes. The line i{s the boundary of each half~-plane.
2. An opan helf-plane 1is a half-plane without its boundary.

3. A closdd half-plane is the union of a half-plane and ite

boundary.
4. (a) closed (c) open
(b) open (d) closed

(b)
<+t
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